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MNEEIX 400 400 400 400 400 400 400 400 400 400 | 18,000
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MO OFHAL | @A 2 2 2 2 2 2 2 2 2 2 125
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GREXCES B 1 1 - - 1 1 1 1 - 1 45
Y % 200 200 100 100 100 100 100 100 100 100 | 5,400
Bt & 1 1 1 1 1 1 1 1 1 1 46
Ny I /A ® 500 500 - - 500 500 500 500 - 1,000 [ 28,000
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& xR —IE L = 1 1 1 1 1 1 1 1 1 1 1 1 1 13
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B iREtEa Nt | BRE G [Egk ¢ |ARREE|HEAR | BT (ERE T | e | TXE o : : : : : : "
o o || e e | (ST | e | | B D RRER) AP\ e mogk | mone ) So ek mo | e
TV RER) [&] - - - - - - - - - - - - - — 1000 - - - - - — 11,000
##8[CAry b & 240 300] 300] 360] 2.100] 840 1,980 | 4.140| 480 600] 300| 1,050 2,100 | 11,000 [1L000| - - - - - - [36.790
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